Name: Tracy Guilmette Class/Position: Librarian

Birthday: July 7th Shirt Size: L Monogram: TLG

Dietary Restrictions: None

MY FAVORITE:

College team: N
Color: Green

Salty snack: salt and vinegar chips

Fruit: raspberry

Candy or candy bar: chocolate covered pretzels

Gum flavor: wintergreen

Soft Drink: Coke

Sodalicious Drink: never had sodalicious

Starbucks: sweet cream cold brew

Cookie: oatmeal chocolate chip (not raisin) or peanut butter

Cake: chocolate

Dessert: lemon meringue pie

Take-out/fast food restaurant: Canes

Sit down restaurant: **Baci**

Ice Cream Shop/Flavor: chocolate chip or rocky road

Coffee Shop: any

Bookstore: Bookmans

Teacher Supply Store: Teacher Pay Teacher

Scent: fall - cinnamon, apple, etc

Hobby: reading, making burlap wreaths

If you found a gift card for \$5, where would you want it to be to? **Starbucks** If you found a gift card for \$20, where would you want it to be to? **Target** If you found a gift card for \$100, where would you want it to be to? **Amazon** Any Additional Information You Would Like Us To Know? I am pretty easy going, don't dislike much ..except liver and green beans!!

Name: Tylor Mann Class/Position: PE

Birthday: February 22 Shirt Size: XL Monogram: Coach Mann

Dietary Restrictions: N/A

MY FAVORITE:

College team: Oregon Ducks

Color: Red

Salty snack: **Trail mix** Fruit: **watermelon**

Candy or candy bar: chocolate covered raisins

Gum flavor: cool mint

Soft Drink: DR PEPPER ZERO

Sodalicious Drink: **No idea**Starbucks: **Iced Americano**Cookie: **oatmeal raisin**

Cake: red velvet
Dessert: apple pie

Take-out/fast food restaurant: Salad and go Sit down restaurant: Caldwell County BBQ

Ice Cream Shop/Flavor: Cookie dough

Coffee Shop: Starbucks

Bookstore: Amazon

Teacher Supply Store: Amazon

Scent: New shoe smell

Hobby: Snowboarding or Mountain biking

If you found a gift card for \$5, where would you want it to be to? **Starbucks** If you found a gift card for \$20, where would you want it to be to? **Starbucks** If you found a gift card for \$100, where would you want it to be to? **DICKS** Any Additional Information You Would Like Us To Know? **NAH**

Name: Jenna Moulton Class/Position: Music

Birthday: February I5 Shirt Size: L Monogram: Mrs.

Moulton

Dietary Restrictions: None

MY FAVORITE:

College team: None

Color: Blue

Salty snack: Bugles

Fruit: Strawberries or bananas

Candy or candy bar: Twix or any chocolate with nuts (no coconut)

Gum flavor: Cinnamon

Soft Drink: Diet Root Beer

Sodalicious Drink: Skinny Lime Rickey or skinny Southern Gentleman

Starbucks: Frozen Strawberry Acai Lemonade Refresher Cookie: Double chocolate or chocolate Macadamia nut

Cake: Chocolate

Dessert: almost anything chocolate

Take-out/fast food restaurant: SomeBurros

Sit down restaurant: Red Robin

Ice Cream Shop/Flavor: Cookies and cream

Coffee Shop: I don't drink coffee

Bookstore: **JWPepper**

Teacher Supply Store: Amazon

Scent: Lavender

Hobby: Music and movies

If you found a gift card for \$5, where would you want it to be to? **amazon**If you found a gift card for \$20, where would you want it to be to? **amazon**If you found a gift card for \$100, where would you want it to be to? **amazon**Any Additional Information You Would Like Us To Know? **Thank you**

Name: Kenia Ramirez Class/Position: General Music

Teacher, all grades

Birthday: March 17 Shirt Size: M Monogram: KR

Dietary Restrictions: I just can't eat chewy things or anything too

hard

MY FAVORITE:

College team: N/A

Color: Pink

Salty snack: Cheez It

Fruit: Cherries and Pineapple

Candy or candy bar: Jolly Ranchers and Hershey Cookies N Cream

Gum flavor: I do not chew gum

Soft Drink: Lemonade

Sodalicious Drink: Dr. Pepper

Starbucks: Strawberry acai w/lemonade

Cookie: Chocolate Chip

Cake: Chocolate

Dessert: **Brownies and Cheesecake**Take-out/fast food restaurant: **In N Out**

Sit down restaurant: Maggiano's Little Italy Ice Cream Shop/Flavor: Butter Pecan Flavor

Coffee Shop: Starbucks

Bookstore: Barnes and Noble

Teacher Supply Store: Teaching and Learning Stuff Mesa

Scent: Nature or flower scents

Hobby: Playing the flute & reading books

If you found a gift card for \$5, where would you want it to be to? **Starbucks** If you found a gift card for \$20, where would you want it to be to? **Amazon** If you found a gift card for \$100, where would you want it to be to? **Target** Any Additional Information You Would Like Us To Know? **N/A**

Name: Jessica Rieboldt Class/Position: Reading Specialist

Birthday: October 7 Shirt Size: M Monogram: Mrs. Rieboldt

Dietary Restrictions: none

MY FAVORITE:

College team: Wisconsin

Color: Aqua

Salty snack: chips & salsa

Fruit: mango

Candy or candy bar: Reese's Pieces

Gum flavor: Spearmint

Soft Drink: Unsweetened Tea

Sodalicious Drink: any!

Starbucks: Iced Oatmilk Vanilla Latte

Cookie: White Chocolate Macadamia Nut

Cake: Chocolate

Dessert: Cheesecake

Take-out/fast food restaurant: Salad and Go

Sit down restaurant: anything Mexican Ice Cream Shop/Flavor: any and all:-)

Coffee Shop: Black Rock

Bookstore: Amazon

Teacher Supply Store: Amazon

Scent: vanilla Hobby: cooking

If you found a gift card for \$5, where would you want it to be to? **Black Rock**If you found a gift card for \$20, where would you want it to be to? **Salad and Go**If you found a gift card for \$100, where would you want it to be to? **Amazon**Any Additional Information You Would Like Us To Know? **none**

Name: Jessica Edwards Class/Position: Reading aide

Birthday: September 21 Shirt Size: L Monogram: JE

Dietary Restrictions: None

MY FAVORITE:

College team: Usc

Color: **Teal**

Salty snack: Hot Cheetos, jalapeño chips, hot Doritos, popcorn

Fruit: Mango, watermelon, pineapple

Candy or candy bar: Hazelnut anything, almond chocolate, nerd clusters

Gum flavor: Mint Soft Drink: Coke

Sodalicious Drink: Not sure

Starbucks: Iced caramel macchiato with oat or almond milk

Cookie: Oatmeal or chocolate chip

Cake: Vanilla

Dessert: Ice cream

Take-out/fast food restaurant: Cafe Rio / Chipotle
Sit down restaurant: Oreganos, Buffalo Wild Wings

Ice Cream Shop/Flavor: DQ /menchies, Reese's blizzard

Coffee Shop: Americano ammunition/ Dutch bros

Bookstore: Barnes and noble / Amazon

Teacher Supply Store: Amazon

Scent: Vanilla Hobby: Hiking

If you found a gift card for \$5, where would you want it to be to? **Dutch bros** If you found a gift card for \$20, where would you want it to be to? **Target** If you found a gift card for \$100, where would you want it to be to? **Kirklands** Any Additional Information You Would Like Us To Know? **None**

Name: Dena Strand Class/Position: Inst Reading Aide

Birthday: November 2 Shirt Size: M Monogram: DS

Dietary Restrictions: None

MY FAVORITE:

College team: MN Gophers'

Color: Orange

Salty snack: Salsa Sun Chips

Fruit: Pineapple

Candy or candy bar: Milky Way

Gum flavor: **Spearmint** Soft Drink: **Dr. Pepper**

Sodalicious Drink: AK Special Starbucks: Chi Tea Latte

Cookie: Chocolate Chip

Cake: **Chocolate**

Dessert: Creme Brulee

Take-out/fast food restaurant: Phei Wei

Sit down restaurant: **Sauce** Ice Cream Shop/Flavor: **NA** Coffee Shop: **Starbucks**

Bookstore: Barnes and Noble

Teacher Supply Store: NA

Scent: Japanese Cherry/Magnolia scents

Hobby: Hiking

If you found a gift card for \$5, where would you want it to be to? **Bath and Body** If you found a gift card for \$20, where would you want it to be to? **Target** If you found a gift card for \$100, where would you want it to be to? **Amazon** Any Additional Information You Would Like Us To Know? **Thank you**

Name: Amara Gomez Class/Position: Resource

Birthday: June 9 Shirt Size: S Monogram: AMG

Dietary Restrictions: N/A

MY FAVORITE:

College team: NAU

Color: Pink

Salty snack: **Hot fries** Fruit: **Watermelon**

Candy or candy bar: Twix or Sour Patch Watermelons

Gum flavor: Mint

Soft Drink: Root Beer

Sodalicious Drink: Cherry Limeade

Starbucks: Cold Brew with salted caramel cold foam no classic

Cookie: Snickerdoodle

Cake: Vanilla

Dessert: Ice Cream

Take-out/fast food restaurant: Chipotle

Sit down restaurant: Oreganos

Ice Cream Shop/Flavor: Cold Stone: Cotton Candy

Coffee Shop: Starbucks

Bookstore: **Barnes and Noble** Teacher Supply Store: **TPT**

Scent: Anything coconut or pumpkin

Hobby: Yoga or reading

If you found a gift card for \$5, where would you want it to be to? **Starbucks** If you found a gift card for \$20, where would you want it to be to? **Target** If you found a gift card for \$100, where would you want it to be to? **Amazon** Any Additional Information You Would Like Us To Know? **N/A**

Name: Sara Toombs Class/Position: Resource Teacher

Birthday: December 2 Shirt Size: M Monogram: SVT

Dietary Restrictions: gluten

MY FAVORITE:

College team: NAU Color: Light Blue

Salty snack: Hot Cheetos

Fruit: Strawberries

Candy or candy bar: Sour patch kids

Gum flavor: Mint

Soft Drink: Coke Zero

Sodalicious Drink: Ak Special

Starbucks: Vanilla Iced Coffee with Almond Milk

Cookie: Chocolate Chip

Cake: Vanilla

Dessert: **Brownie**

Take-out/fast food restaurant: Chipotle

Sit down restaurant: Red Robin

Ice Cream Shop/Flavor: Mint Chocolate Chip

Coffee Shop: Starbucks

Bookstore: Barnes and Noble

Teacher Supply Store: Teachers pay Teachers

Scent: Vanilla or coconut

Hobby: working out or reading

If you found a gift card for \$5, where would you want it to be to? **Starbucks** If you found a gift card for \$20, where would you want it to be to? **Target** If you found a gift card for \$100, where would you want it to be to? **Amazon** Any Additional Information You Would Like Us To Know? **N/A**

Name: Bernida Fullard-Pierce Class/Position: SPED

Birthday: December 27 Shirt Size: 2x Monogram: BFP

Dietary Restrictions: No nuts, berries

MY FAVORITE:

College team: SunDevils

Color: Green

Salty snack: **Nacho** Fruit: **Pineapple**

Candy or candy bar: Hershey

Gum flavor: **No Gum** Soft Drink: **Pepsi**

Sodalicious Drink: None

Starbucks: Mocha

Cookie: Chocolate Chip
Cake: Coconut Pineapple
Dessert: Lemon Meringe Pie

Take-out/fast food restaurant: Thia Chili

Sit down restaurant: Red Lobster Ice Cream Shop/Flavor: Cold Stone

Coffee Shop: Starbucks

Bookstore: Barnes & Nobles

Teacher Supply Store: Lakeshore

Scent: Lavender

Hobby: Bird watching and writing

If you found a gift card for \$5, where would you want it to be to? **Michaels**If you found a gift card for \$20, where would you want it to be to? **JC Penney**If you found a gift card for \$100, where would you want it to be to? **Allegiant Air Line**

Any Additional Information You Would Like Us To Know? **Yes what happen to the 500 dollar gift card**.

Name: Jenelle White Class/Position: ELL Teacher

Birthday: November 14 Shirt Size: XL Monogram: JCW

Dietary Restrictions: NA

MY FAVORITE:

College team: NAU

Color: Green

Salty snack: Cheese its

Fruit: Pineapple

Candy or candy bar: Snickers

Gum flavor: **Spearmint** Soft Drink: **Coke Zero**

Sodalicious Drink: coke zero with coconut and cream

Starbucks: Peach green tea lemonade, or chi tea latte with cold foam

Cookie: any

Cake: red velvet

Dessert: Apple cobbler

Take-out/fast food restaurant: Somburros

Sit down restaurant: Nando's

Ice Cream Shop/Flavor: Dairy Queen, cookies and cream

Coffee Shop: Black Rock/Starbucks

Bookstore: Amazon

Teacher Supply Store: Amazon

Scent: **Any fall scent** Hobby: **making shirts**

If you found a gift card for \$5, where would you want it to be to? **Twisted sugar** If you found a gift card for \$20, where would you want it to be to? **Target** If you found a gift card for \$100, where would you want it to be to? **Hobby Lobby** Any Additional Information You Would Like Us To Know? **NA**

Name: Seth Kaesler Class/Position: Gifted/ELP

Birthday: January 20 Shirt Size: XL Monogram: Dr. K

Dietary Restrictions: none

MY FAVORITE:

College team: none

Color: Green

Salty snack: Potatoe chips

Fruit: Plum/peach

Candy or candy bar: Twix

Gum flavor: none

Soft Drink: **Dr. Pepper** Sodalicious Drink: **none**

Starbucks: Dragon Fruit refresher

Cookie: peanut butter

Cake: any

Dessert: cheesecake

Take-out/fast food restaurant: **Taco Bell**Sit down restaurant: **Texas Roadhouse**Ice Cream Shop/Flavor: **Cold stone - any**

Coffee Shop: Starbucks

Bookstore: Amazon

Teacher Supply Store: Amazon

Scent: none

Hobby: Woodworking/cooking

If you found a gift card for \$5, where would you want it to be to? **Starbucks** If you found a gift card for \$20, where would you want it to be to? **Taco bell** If you found a gift card for \$100, where would you want it to be to? **Amazon** Any Additional Information You Would Like Us To Know? **none**